
7 1 18 9 3 30

0 0 0 0

9 3 8 4

0 0 0 0

答え と

答え

②
8 9 8 9

2 　    には数字が１こ入ります。

 商が十の位からたつのは、　 がどんな数字のときですか。

①
6 8 6 2

930 840

10 3

3 0

84

1 0 1

0 0

21 843

9 3 93

940 2 1 8 4 33 1 9 4 0 31

8 4

4 0 40

③  940÷31 ④  843÷21

3 0 30

780 900

14 0

0 0

90

1 4 1

0 0

15 900

7 8 78

794 1 5 9 0 02 6 7 9 4 26

9 0

日にち：　　月　　日

名まえ

1  次の筆算をしましょう。

①  794÷26 ②  900÷15

6 0 603 0 30

13

⑬ 仕上げ



7 1 18 9 3 30

0 0 0 0

9 3 8 4

0 0 0 0

8 9答え と

答え

②
8 9 8 9

2 　    には数字が１こ入ります。

 商が十の位からたつのは、　 がどんな数字のときですか。

①
6 8 6 2

9

930 840

10 3

3 0

84

1 0 1

0 0

21 843

9 3 93

940 2 1 8 4 33 1 9 4 0 31

8 4

4 0 40

③  940÷31 ④  843÷21

3 0 30

780 900

14 0

0 0

90

1 4 1

0 0

15 900

7 8 78

794 1 5 9 0 02 6 7 9 4 26

9 0

日にち：　　月　　日

名まえ

1  次の筆算をしましょう。

①  794÷26 ②  900÷15

6 0 603 0 30

13

⑬ 仕上げ 答え

1 3


